
Stochastic mathematical models of
cell proliferation assays









Acknowledgements





Abstract





Contents





Chapter 1

Introduction

1.1 Overview
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2.1 Introduction
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2.2 Methods

2.2.1 Discrete mathematical model
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Ĉ(t) T = 24

2.2.2 Parameter estimation using ABC rejection

θ =

(α,β) θ

C(t)

(α,β)

θ∗

C(t)

θ

T

θ



0 12 24 36 48 60 72 84 96

Time (h)

0

C
(t

)

(d)
1

^

0 12 24

Time (h)

0

C
(t

)

(c)
1

^

0 12 24 36 48 60 72 84 96

Time (h)

0

C
(t

)

(b)
1

0 12 24
Time (h)

0

C
(t

)

(a)
1

Case 1

Case 2

Case 3

C(t) T = 24 C(t)
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2.3 Results and discussion
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Chapter 2: Supplementary material

2.A Posterior distributions
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Chapter 3

Inferring parameters for a lattice-free
model using experimental data
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3.1 Introduction
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